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Ax (Bn C) = (Ax B) n (AxC)
Ax (BU C) = (Ax B) U (Ax C)(8)
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('\) Y = e+t+1, x = 2t+1
(~) Y = i.3x• eX("l)
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<Ii~ql~.3 (<Ii) d~ llCllql

[07]

dx ('\)

2x-3
y=-- 3x-2

(~)

x5 x4 x3 x2

y=---+---+l5 4 3 2
("l)

rq£:l~al1 li(?'t1li <li0l ~atc1li I8lic11 i'le& ~? li(?'t1li :Qi0l ~alc1li I8lic11 li~aO ~~<1(Og)

:Qi0l'I.I~Y\.c1~1~c11~12l1ql. (8)

<'li1lii:>lallrat~li x=24-3p, 6l~ c118818lid <lilliElaO li(?'t1li elil? (0\9)

~.)'

(:Qi)
rzi.§ (X1, Y1) lii~ 'I.I~I~ elcfl <li0l m a.ICIlqlail~'lliIc1~l{l8<121llCllql. (Og)

("l)

(1, 0) <li0l (2, -1) R-i.§<lillii~ 'I.I~I< elcfl ~'lliIc1~lfi8<121 llCllql c1ell (2, 2) rzi.§ <iiI(0\9)

~'llil '1.1<f3 '5 at6l' d ~81~1. (8)
6gC-i~ rq£:l~ z= 6x+ 7y OlaO~aO ~1<c110l<Ii<1C-i~Olli(?'t1li"lallql. (0\9)

2x+4y~48
4x+2y~60x, y~O ~~ql



~.~
(~) ~~"l ~1~I'l{alO'il <tier ~lf~c.O aall G~~I:>~ C~"ll. (Og)

("l) 6gC~~ rqtl~ z = 3X1+5X2cilafl~afl !mcllcil <ti,!!c~~cillf6"dlf "lall'll. (0\9)
3X1+2X2~18
X1 ~4
x2~6
X1,X2~0

(8) ~"ll x-4y+18=0 ~cil x+y-12=0 all ~EaI~.§lfi~ ~~I~ etcf1 C1etl 1/5 a.ICIl'llafl (0\9)

~"ll~ ~1il8~~1 llCll'lI.

~.~
(<ti) §C~"l~ cKi..alC1lfetl~ a ila afl~all 81..x-'l6·:~mnall ~~cil GBC~I. (0\9)

ABC 0
P 0 7 14 21
Q 12 17 22 27
R 12 17 22 27
S 18 22 26 30
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(8) afl~o1l 81..x-'l6~.mno1l ~~cil GBC.fl. (Og)

o E F G
P 35 30 41 57
Q 47 32 53 45
R 39 42 38 54
S 31 35 50 45
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